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3( ) 4sin(2 10 )s t tπ= ⋅ �
6( ) 20sin(2 10 )M t tπ= ⋅ �

2��� 0 4S V= 3� 310F Hz= ������ 0 20M V= 3� 6
0 10f Hz= �
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5 1
20 4

Sm
M
= = = �

�
2���� 0,25m = �$� 25%m = ��
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200P WΟΛ = 3� 0,3D = �

0,3 200 60PD P D P W
P
ΩΦ

ΩΦ ΟΛ
ΟΛ

= ⇒ = ⋅ = ⋅ = �
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3( ) 4sin(2 8 10 )s t tπ= ⋅ ⋅ �
2��� 0 4S V= ����� 38 10 8F Hz kHz= ⋅ = �
10kHzk V= �
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max 0 10 4 40 5
8 8f

f k Sm F F
∆ ⋅ ⋅= = = = = �
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3 3 32 ( 1) 2 8 10 (5 1) 16 10 6 96 10fB F m Hz= + = ⋅ ⋅ + = ⋅ ⋅ = ⋅ �
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�� 60P WΩΦ = �

300P WΩΦ =
�

5fm = �

396 10B Hz= ⋅ �$� 96B kHz= ��


